H & 0l & AHS B Ml A

20258 20ila LESIH BI85

A SIS
¥ SIS M (LEissE/dedy)
telr 2018 22l EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
SIS 1,941,965 1,847,399 94,566
IS ANS (LS 3HE/ABAT) 1,321,015 1,227,195 93,820
S8 2l 717,235 623,415 93,820
SAt2te] & xtEaed 57,900 44,400 13,500
201 fer= 3| 14,900 14,400 500
02 S3=gHl 14,900 14,400 500
Od= =Aldl 2,500,000 *14] 2,500
Ol sEX =l 2,000,000 1CH 2,000
O& A KX 3,500,000 *1CH 3,500
Og 4t =AM 2,500,000 «1CH 2,500
O%&d =Xxtd 2|
1,000,000 *1CH 1,000
OFAL &t KX
200,000 122 2,400
O&MUE=E 1ds sEUFI =l
1,000,000 *1CH 1,000
401 AlZHIZ SO 40,000 30,000 10,000
01 A28l 40,000 30,000 10,000
O3V SHEESAIHE AL FEHl SA
20,000,000 *14! 20,000
O3J1§ =X& FHISA
20,000,000& » 14 20,000
405 KHoHF S| 3,000 3,000
01 ML ESFSHI 3,000 3,000
QIRET =BUIIAIAE 2
3,000,000 *1CH 3,000
SAsF 2 85,422 37,8% 47,527
101 e124d| 13,036 6,911 6,125
M ORNZZ2NSE S 13,036 6,911 6.125
OstAgs o1 13,036
—olAIYS 1Y
80,2403 x 150+ 1H 12,036
—otAYYH 22X 40 2=
1,000,000 *14] 1,000
201 =3 26,650 20,550 6,100
01 At22t2l] 25,650 20,050 5,600
OZ2eld LISl S 21,450
—Hg=(8=) 300,000 x5 *1J4 1,500
—Hg=(5t=) 150,000 x5 * 104 750
—&gst 150,000 x5 & +20H 1,500
—<2 50,0002 x5 *1H 250
—ZNI(oHd, 28, )
40,0002 x5 «3H 600
—&st 50,0002 x5S *1H 250




2A:

=

¥ SIS M (LEissE/dedy)
telr 2018 22l EER=E)
M- B SRASH) - HRAR - B2 of v e HIDE2
—&st2 50,0002 x5S «1H 250
—&stst 150,000 x5 & * 104 750
—detEy 50,0002 x5 =14 250
—HH2OIZEA B, JI2EA 2 A
30,0003 x5 * 104 150
- 5003 +5H #2501« 123 750
—0tA3 5003 +5E #2501« 123 750
—A22SH
100,000 x5S * 14 * 12 6,000
—JIEH(=H KA S XM, EASH S)
20,0002 x5S *1J4» 122 1,200
—ER20Y oy 2%
50,0002 x5 *2H 500
— sl MBI
100,000 x5+ 122 6,000
Ostgdacld AR D] A8
50,000& * 122 600
OsFTRA HATT 7YY
30,0003 x65+5 & *42| 3,000
OBZTRIRANRA 424 22 7Y
10,0003 x5~ 123 600
2 35244l 1,000 500 500
O=gXYD| £I| & 0ISA! cotv ==clHl
100, 0002 *5LH =22 1,000
206 MH=Hl 8,676 7,474 1,202
01 MZH| 8,676 7,474 1,202
OoNgEs =HE 0+ 4,000
—PPELLH 4002 *3,0000H 1,200
—33E Ot 7002 *4,0000H 2,800
OstAZ S =athl & FFU 4,676
—Sg= 1,680 700 £ 1,176
—EHAHH| 3,500 %1,000 £ 3,500
307 21201 & 360 360
012z € 2/=H] 360 360
OdZ 2l FSH| 15,0003 2~ 123 360
405 AHAHE S 36,700 2,600 34,100
01 AL =S F=H 36,700 2,600 34,100
OFARIY 2B%A 7Y
13,900, 000:& 27K 27,800
OJ23AE g+ 22 JiEIH
1,300,000 #57HK 6,500
OEBVRIVARY YD PY
2,300,000 1CH 2,300
OB ACIJARA H2Z0| 43)] 7L
100,000 *1CH 100
2otsS=Al2tel 156,600 156,600 0
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2A:

=

¥ SIS M (LEissE/dedy)
telr 2018 22l EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
206 M=l 47,680 17,000 30,680
01 MHZH| 47,680 17,000 30,680
O3l ¢12 7 1,68024+1,000 4 1,680
ORI 22 Y
6002 +5,000=+32] 9,000
OQla=ME =3 22X 7 (5,8l
Bl R E D &2 S)
2,000,000& *14] 2,000
OxzH 2 MY SHIDI IR (0x=E S
) 2,000,000 *14! 2,000
OOrl3t THEHEH X ZEAIY 22 2
2,000&*1,500= 3,000
OYed HBA ORAIEZIT S 7Y
30,000,000 *14! 30,000
401 Al HIZL 201 13,000 13,000
01 Al&H| 13,000 13,000
OSJIQ&a=21 ORIEY UI2AIE UM 3
At 3,000,000 *14! 3,000
Osdd ¢ SHFHI(ZEHDII 8) At
10,000,000& * 14! 10,000
S)g FUAXLE 29 21,105 18,125 2,980
201 =3 21,105 18,125 2,980
01 At22t2lt] 3,600 3.120 480
OFCITRIHE 225 & HE7L 2
200,000 122 2,400
ORI ==&F Xl
100,000& * 122 1,200
02 S3=gHl 17,505 15,005 2,500
OFLTAIME IS
1,200,000& ~12& 14,400
OFAURRHEH R&(TV) 23
5,400 12& 65
O=F2UXXIHE d2=)| 2elAs
35,0002 *43] 140
OFCURAIHE W MEHAY 288
400,000 *14] 400
O=2UXXIHE W deteI| X
250,000 = 10CH 2,500
FRIXHRID B ot 220,520 224,240 A3,720
204 AR A 5,400 3,600 1,800
02 E3g =23l 5,400 3,600 1,800
OM=ggs=d 150,0002 =3+ 122 5,400
301 Eet2 NS 215,120 217,640 A2,520
o7 8801 - 32243 201,800 201,800 0
oolg+¢ 182,400
—JlE=g 400,000& *30E « 12& 144,000




2A:

=

¥ SIS M (LEissE/dedy)
telr 2018 22l EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
—&0=3 400, 0002 *30E +200% 24,000
—slo &MY
20,0002 x302 *23| 12 14,400
oty ¢ 50,0003 »208H 10,400
Ools&d sadl K&
25,0002 x30F 122 9,000
11 dALEBIXNIZE S 13,320 15,840 A2,520
OXNSEot £E9l S 2|FA L 24
9,000&x0& 122 9,720
OXHZHEAl 20| 24 & Z2AH|
90,0003 20 *22] 3,600
S)1gl2 2el 29,820 30,940 A1,120
201 el 9,820 7,940 1,880
02 35244l 9,820 7,940 1,880
O3J13& 23] HaH|
15,0002 *8A| 2H+20! 2,400
O3J12l2 HAL RAIE22H|
1,000,0002 %14 1,000
O3J1a& Hot= =
40,0003 * 122 480
O3J1al& gat2e|At 2]
100,000 #23] 200
O3J1zl2 AHALE SeHLESH
600,000 %12 600
O3JIgl2 APAE HS)|IsEH
600,0002 %12 600
O3zl AN 3 d=28
90,000& %102 900
O3JIzl2 Mt EE =8
120,000& * 122 1,440
O3J1a& ez
100,000 *22] 200
O3J1al& diteh)| [l
250,000 +8LH 2,000
401 AIZHIX S0HH 20,000 20,000
01 AlZH| 20,000 20,000
O3Jl1al& FEHISA
20,000,000 *14! 20,000
A2 FEEHAAS 603,780 603,780 0
A2 FRIEHAAY 603,780 603,780 0
401 Al HIZL S 0HYI 603,780 603,780 0
01 Al&HI 600,000 600,000 0
OArR FeEHAAIA 600,000
—3J18 dUl4e] == ZBIS At
200, 0002 *100m 20,000
—3JI8 dUlicl == ZHEHISA
200,000& *150m 30,000




SN BIS
B 2)|S A (UNDRHE/UUHE)
Ot AT EQIHOIA (cre:xigl)
SA - ZB . 9(B) - NIRAD - BaS ol b e HlmS2
—2J18 =53el =2 FHIZAl
400,000 *100m 40,000
—32II8 =242 “FEZHETHISA
200,000 *200m 40,000
—32J|18 S5 0=t SIS A
1,000, 0002 *40m 40,000
—2J18 S56cl =2 & X 3At
200,0002 *150m 30,000
—30IS ttHel sEEEIA
200,000 *200m 40,000
—32J|15 0132l 0t AIHEHISA
700,000& *30m 21,000
—2J18 &otel =2 FHIZ A
200,0002 *150m 30,000
—32JI8 =3¢l =2 FdISAt
200,000 *100m 20,000
—ZJ|2 31l OtSe HdEEMNSS At
1,000, 0002 *40m 40,000
—20|18 uEel S2EFESZA
200,0002 *100m 20,000
—=JI8 Hiel s5 L AMHFHISA
1,000,000 *30m 30,000
—2J|8 22| a2 A XIS A
200, 0002 *100m 20,000
-2 8ilel s2 2 248 XIS A
300,000 *150m 45,000
—EJ18 NF2l OISt Z&EIA
200, 0002 *200m 40,000
—2J18 el i8IS A
200,000 *200m 40,000
—2JI8 &2l AFHEBISAt
800, 0002 *30m 24,000
—32JI8 &7l tH=2E XS A
200,000 *150m 30,000
03 Al CHYI 3,780 3,780 0
OATE FLHEHAAIY AIL20HY]
3,780,000 14 3,780
Y 2IZHI(ZI1S) (DIEHIIE) 620,950 620,204 746
QIE A 450,410 434,384 16,026
QIR AH| 450,410 434,384 16,026
101 2124l 450,410 434,384 16,026
01 B 120,708 122,654 A1,946
OETIEEERNEIEES)
11,6023 x22H *x36A| 2H+ 12F 110,266
OAZI2I2R2+2H(HAX2H)
11,6022 * 1 +3A| 2H+300 10,442
03 SRH(RINHS) 22X 2+ 329,702 311,730 17,972
Ostg | 329,702




SN BIS
M HYH2HHUI(SEII1S) (OIEHIIE)
chol: ol (19 @)
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
—J|I=2a 3,478,580 x5 12& 208,715
&Y
3,478,580 *75%+50%+5 B 23| 13,045
—E= 11,400
- BH Xt 40,0003 *5F *12& 2,400
M AHA 30,0003 x5 12& 1,800
S MAHA 70,0003 x4« 12& 3,360
- AURHRHA 110,000 2F 122 2,640
- J|IEDE 20,0003 x5F =123 1,200
—HEFOHI
3,478,580 *75%+60%+5 H 23| 15,654
— AR DRAY
19,2683 x150%+20A| 25 123 34,683
—RU2Rsy
96, 3403 *150%+5H 40 28,902
—AXRESFII=E
154, 14425+ 17 13,108
—Ex82Y 70,0002 x5« 12& 4,200
234l 170,540 185,820 A 15,280
Jl=2Z&| 170,540 185,820 A 15,280
201 B2 AY| 77,820 80,570 A2,750
01 A=R2teld| 44,100 46,950 22,850
O=AEX 7
20,0003 #2428t A %123 5,760
OS201Albl 9,000 *5A1+24H « 12& 12,960
Ogiteg 100,000& «12& 1,200
OAF2 TAFYI 50,0003 *12& 600
OL7 2 4| 9,180
—SADI(AE) 22l
500,000 *1.5CH 750
—Igle =2l 100,000 *5CH*50/100 250
—=SAI EYH 200,000 53| *1.5CH 1,500
—I2IH EH(E8)
200,000& *53 *5CH 5,000
—ZRIE Ed(Zel)
200,000 *33*1CH 600
—PC =2l 100,0002 *24CH*20/100 480
—J|Et ==2lHl 50,0003 *12& 600
OJIEF AtR2tel]
10,000& x24H = 122 2,880
Og=2| 11,520
—2A 60,0002 * 1+ 19 1,140
—=Z (M) 30,000& *1H +346 10,380
02 324l 33,720 33,620 100
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